@’? Which derivative rule best5 32042
describes the overall X COS( A )

structure of this problem?

Chain rule
Product Rule
@ Quotient Rule
Power Rule
@ Trig Derivative




@»? Sort the order of the steps

> Sx°cos( 2
needed to find this derivative.” COS( x)

Power Rule



"7 What is the derivative of

5x°co s( 2x)

—15x’sin( 2x)
—30x2sin(2x)
(©) 15x7cos( 2x) — 10xsin( 2x)
(@) 15x°cos( 2x) +10xsin( 2x)
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>~ 7~ What is the derivative of

SSGC( 4x2)

5sec(8x)tan(8x)
Ssec(4x/2)tan(4x"2)
(©) 20x"sec( 4x” Jtan(4x?)
40xsec( 4x” tan( 4x”)
@ Not Here




@’7 What is the first step in 2(5 2)
5 X

finding the derivative of “©>

rewrite as (cos( 5x2))2

use the fact that cos' derivative is -sin

@ Use the chain rule

I don't know




Which choice shows the
correct order of steps to fin

d cosz( sz)

Chain rule, chain rule
Power rule, chain rule

@ Power rule, chain rule, chain rule

Trig derivative
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Let's say that for some
function f(x),f'(x) = _x+5
(x—1)°

Where does f(x) have a horizontal tangent?
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f(x) does not have a horizontal tangent

WOP®E
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Which of the following is NOT
required for a function to be
differentiable at a point?

f(x) is continuous at that point

f(x) has a unique tangent line at that point

@ the unique tangent line has a defined slope

None of these



Which of these points fails
differentiability because of

having a vertical tangent
line?

ool f(x)




Which of these points is not
differentiable because f has
no unique tangent line?

f(x)




@’7 Why is the function not

differentiable at b?

No unigue tangent line

A
@ Not continuous -
a b e d

Undefined slope //_ ___H'”“:_;//

The function actually IS differentiable at b



